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Subject : GE_Q01-Q20_JA01MARSH2
Question ID:- 1

Read the passage given below and choose the most appropriate answer for the question tha
follow :

1.  Every school has a canteen, but the canteen in my school has some special qualities. It is
mixture of both modern and traditional values. It is situated in a corner of the school, sucl
that it's smells, smoke, steam and sound do not reach the office, library or classrooms &
cause any disturbance. It comprises a vast building. There is one central hall for servin
refreshments. There are separate rooms for the members of the staff and boy and girl students
The contractor has his own room overlooking the hall. As the rooms are separated by glas
walls, he can easily keep a watch overall the rooms. Two rooms for cooking purposes are 01
one side of the building.

2.  There is a big showcase displaying all the eatables. In the canteen we can get cold drinks
sweets, confectionery items, tea and coffee. Ice cream of ideal brands are also available i1
summer. The rates are reasonable and the contractor is also a jolly person. There is a grea
rush of students during intervals. The waiters find it difficult to serve all and that too s
quickly. At other times, the number of visitors is average. During the vacation, the canteei
has few visitors only. The canteen is a place for rest and entertainment but is also a breediny
place for rumours and gossips.

Read the following statements and select the option that is not true about the school canteen.

(A) The canteen owner is a pleasant tempered person.

(B) The canteen rooms are separated by wooden walls.

(C) The smells and sounds of the canteen reach the office.

(1) (B) and (C) are correct, (A) is incorrect.

(2) (A) and (C) are correct, but (B) is incorrect.

(3)  (B) is correct, but (A) and (C) are incorrect.

(4) (A) is correct, but (B) and (C) are incorrect.
Options:-

=1, Option ID :- 1,
=« 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 4, Option ID : -4

Question ID:- 2
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Read the passage given below and choose the most appropriate answer for the question tha
follow :

1.  Every school has a canteen, but the canteen in my school has some special qualities. It is
mixture of both modern and traditional values. It is situated in a corner of the school, sucl
that it's smells, smoke, steam and sound do not reach the office, library or classrooms &
cause any disturbance. It comprises a vast building. There is one central hall for serving
refreshments. There are separate rooms for the members of the staff and boy and girl students
The contractor has his own room overlooking the hall. As the rooms are separated by glas
walls, he can easily keep a watch over all the rooms. Two rooms for cooking purposes are 01
one side of the building.

2.  There is a big showcase displaying all the eatables. In the canteen we can get cold drinks
sweets, confectionery items, tea and coffee. Ice cream of ideal brands are also available 11
summer. The rates are reasonable and the contractor is also a jolly person. There is a grea
rush of students during intervals. The waiters find it difficult to serve all and that too s
quickly. At other times, the number of visitors is average. During the vacation, the cantee
has few visitors only. The canteen is a place for rest and entertainment but is also a breedin;
place for rumours and gossips.

The cooking rooms are situated :

(1) on one side of the building

(2) in the corner of the school

(3) in the central hall

(4) near the display showcase
Options:-

«1, Option ID :- 5,
» 2, Option ID :- 6,
« 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3
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Read the passage given below and choose the most appropriate answer for the question tha
follow :

1.  Every school has a canteen, but the canteen in my school has some special qualities. It is
mixture of both modern and traditional values. It is situated in a corner of the school, sucl
that it's smells, smoke, steam and sound do not reach the office, library or classrooms &
cause any disturbance. It comprises a vast building. There is one central hall for serving
refreshments. There are separate rooms for the members of the staff and boy and girl students
The contractor has his own room overlooking the hall. As the rooms are separated by glas
walls, he can easily keep a watch over all the rooms. Two rooms for cooking purposes are 01
one side of the building.

2.  There is a big showcase displaying all the eatables. In the canteen we can get cold drinks
sweets, confectionery items, tea and coffee. Ice cream of ideal brands are also available 11
summer. The rates are reasonable and the contractor is also a jolly person. There is a grea
rush of students during intervals. The waiters find it difficult to serve all and that too s
quickly. At other times, the number of visitors is average. During the vacation, the cantee
has few visitors only. The canteen is a place for rest and entertainment but is also a breedin;
place for rumours and gossips.

When do the waiters find it easier to work ?

(1) during intervals

(2) during rush hours

(3) during holidays

(4) during exam days
Options:-

«1, Option ID :- 9,
« 2, Option ID :- 10,
« 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4
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Read the passage given below and choose the most appropriate answer for the question tha
follow :

1.  Every school has a canteen, but the canteen in my school has some special qualities. It is
mixture of both modern and traditional values. It is situated in a corner of the school, sucl
that it's smells, smoke, steam and sound do not reach the office, library or classrooms &
cause any disturbance. It comprises a vast building. There is one central hall for serving
refreshments. There are separate rooms for the members of the staff and boy and girl students
The contractor has his own room overlooking the hall. As the rooms are separated by glas
walls, he can easily keep a watch over all the rooms. Two rooms for cooking purposes are 01
one side of the building.

2.  There is a big showcase displaying all the eatables. In the canteen we can get cold drinks
sweets, confectionery items, tea and coffee. Ice cream of ideal brands are also available 11
summer. The rates are reasonable and the contractor is also a jolly person. There is a grea
rush of students during intervals. The waiters find it difficult to serve all and that too s
quickly. At other times, the number of visitors is average. During the vacation, the cantee
has few visitors only. The canteen is a place for rest and entertainment but is also a breedin;
place for rumours and gossips.

The school canteen is a place not known for :
(1) rest and entertainment

(2) costly eatables and branded ice creams
(3) both modern and traditional values
(4)

4)  rumours and gossip

Options:-

«1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22041260... 4/60
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follow :

one side of the building.

place for rumours and gossips.

In the passage, the phrase ‘breeding place’ denotes :

(

e

a place where crime is committed

a source for information

a birth site

)
2) a place where animals breed
)
4)

(
(3
(

Options:-

«1, Option ID :- 17,
=« 2, Option ID :- 18,
=« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Read the passage given below and choose the most appropriate answer for the question that

1.  Every school has a canteen, but the canteen in my school has some special qualities. Itis a
mixture of both modern and traditional values. It is situated in a corner of the school, such
that it's smells, smoke, steam and sound do not reach the office, library or classrooms to
cause any disturbance. It comprises a vast building. There is one central hall for serving
refreshments. There are separate rooms for the members of the staff and boy and girl students.
The contractor has his own room overlooking the hall. As the rooms are separated by glass
walls, he can easily keep a watch over all the rooms. Two rooms for cooking purposes are on

2.  There is a big showcase displaying all the eatables. In the canteen we can get cold drinks,
sweets, confectionery items, tea and coffee. Ice cream of ideal brands are also available in
summer. The rates are reasonable and the contractor is also a jolly person. There is a great
rush of students during intervals. The waiters find it difficult to serve all and that too so
quickly. At other times, the number of visitors is average. During the vacation, the canteen
has few visitors only. The canteen is a place for rest and entertainment but is also a breeding

Question ID:- 6

DWARF

(1) giant

(2) pygmy

(3) timid

(4) puny
Options:-

«1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 1, Option ID : -21

The word opposite in meaning to the one given below is :

Question ID:- 7

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22041260... 5/60
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The word which has almost the same meaning as the one given below is :

CUNNING
(1) dumb
(2) titanic
(3) drowsy
(4) sly
Options:-

=1, Option ID :- 25,
= 2, Option ID :- 26,
« 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- Not Attempted

Question ID:- 8

Complete the sentence with the suitable word.
[ use your cell phone as I seem to have forgotten mine ?

(1) Do

(2) Should

(3) May

(4 Would
Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
=« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9

Complete the sentence using the correct pair of articles.
Take umbrella which has orange coloured handle.
(1) the, the

(2) the, an
(3) an,a
(4) a, an
Options:-

«1, Option ID :- 33,
« 2, Option ID :- 34,
=« 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22041260... 6/60
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Which of the following things can a “plumber” fix ?
(1) a sink

(2) a faucet

(3) both (1) and (2)

(4) (1) but not (2)

Options:-

«1, Option ID :- 37,
=« 2, Option ID :- 38,
=« 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Question ID:- 11

Which one of the following words has not been spelt correctly ?
(1) Dbenificial

(2) bureaucracy

(3) adulation

(4) commissioner
Options:-

«1, Option ID :- 41,
= 2, Option ID :- 42,
=« 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12
Identify the parts of speech of the underlined words in the given sentence.

It satisfied me to see people even more tightly and heavily clothed than me with woollen clothes.

(1) adjective, verb

(2) verb, conjunction
(3) adverb, preposition
(4) adverb, verb

Options:-

«1, Option ID :- 45,
=« 2, Option ID :- 46,
=« 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- Not Attempted

Question ID:- 13

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22041260... 7/60
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Identify the incorrect Word : Meaning pair from the options given below :

(1) rip: tear

(2) solitary : group

(3) havoc : damage

(4) hangar : a large shed
Options:-

=1, Option ID :- 49,
« 2, Option ID :- 50,
=« 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- Not Attempted

Question ID:- 14

Complete the sentence with the appropriate option.
I am never my duty as a professional.
(1) negligent at

(2) negligent in
(3) negligent by
(4) negligent for
Options:-

«1, Option ID :- 53,
=« 2, Option ID :- 54,
« 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

Identify the part/parts of the given sentence that is/are incorrect :
Whenever leaves is burnt/in the open/the air get laden/with tiny particulate matter.

a b C d
(1) e d
(2) onlya
(3) a,d
(4) a, c
Options:-

«1, Option ID :- 57,
= 2, Option ID :- 58,
=« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22041260... 8/60
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Two adjectives in the given sentence are :

Rock climbing is still a very dangerous task inspite of the availability of oxygen masks and protective
equipments.

(1) climbing, dangerous

(2) dangerous, protective
(3) inspite, availability
(4) availability, equipments

Options:-

«1, Option ID :- 61,
= 2, Option ID :- 62,
« 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

Pick the correct, meaning of the idiom “pull your socks up” :
(1) tocomplete a task

(2) to start a task

(3) to get ready
(4)

4) to improve your performance

Options:-

«1, Option ID :- 65,
« 2, Option ID :- 66,
= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

Choose the appropriate set of pronouns to complete the sentence correctly.
are the two pairs of pants which my brother bought for

(1) These, me

(2) Those, mine

(3) This, us

(4) That, me
Options:-

«1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22041260... 9/60
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Re order the words/phrases to form a correct and meaningful sentence.
nature presents before/of beauty and tranquillity /a vast panorama/our eyes

a b C d
(1) a,cb.d
(2) d,acb
(3) ¢ bya:d
(4) a,dcb
Options:-

«1, Option ID :- 73,
=« 2, Option ID :- 74,
=« 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

He usually cuts my hair , but today he was than the last time.
(1)  quicker, quick
(2) quick, quickly
(3)  quickly, quicker
(4)

4)  quickly, quick

Options:-

«1, Option ID :- 77,
=« 2, Option ID :- 78,
« 3, Option ID :- 79,

=« 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GH_Q21-Q40 _JAO0O1MARSH2

Question ID:- 21

= fou 7T TR T gt Had Sfud fasea @t o3 St -

7Y 3fere Ted € o urd € foF eadt weaan § greifTent 7 Ry | S 270 et S, ST9H i TeHH e IR
o fear o | TET ot gyt € S it ST o SR St § SR worfa skt i w o iR S €l o wy | et
T oig IE 9 € g e i i 3R S o1 el § 1 GEYE w1 SIS el (el ehdl 8, e S % fee
TR GEEl 7 SR i IR & i

TR & HATER G -
(1) B\N T AR E
(2) ofifos s A &
3) SATAJTE
(4) WRFH T
Options:-

«1, Option ID :- 81,
=« 2, Option ID :- 82,

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126... 10/60
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=« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

e fau u ey @ uget wad sfud fasea @t wram st -
&9 gfoerd Ued € ol urd & fF gt g § <t 3wy & € erae efex ik, $197 i veEE IE
L feam o | U ot gezrard € S «fifaes Sa T ol St § o wfa < ST e 0 S S € i & wu H At

g1 g U | & TR AWE ia A SR S 1@ | TIgH & MG el (9 Ghdl €, TE A o o
TR QT 7 S I IR & i |

BN A1 7 TG &l -

(1) wafuft @ g &

(2) irfoer foepr & e &
(3) WAIfd %1 W AT §
(4) 379 AL @IS
Options:-

«1, Option ID :- 85,
=« 2, Option ID :- 86,
=« 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

el fau U TeneT ol UgeRt Wl Stud fadey st oraH it -
2 gfoerd Tgd & 91 U € foh gt e o Sifrenl 7wy | & o1 Sie% S, S0 w1 veeEr ge
o fem an | T ot weand € S it ST o STR S € SR Wafd skt i w0 iR Sf 21 i o g H At

21 9iq IF 9 @ TN SR ofioR 1 SR SR 1 @ § | Hagd &1 TG el (el Hehdl &, T8 ST & g
TR T A S AR F

‘it gl H A -
(1) @& SFTd &1 "8 ol

(2) 3UH YR TEHA

(3)  iafees Uil 1 J=R

(4) w@E & AfEE & & °E
Options:-

«1, Option ID :- 89,

« 2, Option ID :- 90,

« 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126... 11/60
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el fau T Tener i uget wad Stad faee s g st -
7 gfoerd ugd € A1 U ¥ R e e O <Rt 3 uRe | € o1 SfeR S, S0 R e IE
o fem o | TE ot weAarnd € S it ST o STR S € SR wafd st i w0 iR Sf 2% i ok g H At

21 9iq IF 9 @ TN SR ofioR 1 SR SR 1 @ § | Hagd &1 TG el (el Hehdl &, T8 ST & g
TR G 7 3iet 3R & i |

F® QeI TE o € S -

(1) ofifaes s 8l e St €
(2) Hifass ST e ot #
(3) g 1 ICTH TSIl &
(4) 59 9gd 31 g% ©

Options:-

«1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25

A= fou 1T TR @ Ugeht "ad Stua fasen @t w3 it -
& 3ftere ved € o1 ura ¥ fob gart weerd § <t 3 gRy B E 31 et S, S1u i uEarE IE
o e ) Tt ot wezramd € Sit ifaes STd o SIR St § ST Wit w S uA Y Sfi St €Y i o WY o A

#1 g IE 9 & TN SR i I SR S 1 @ €| Wy o STHe FaEl e TRl €, 9% 9 & fa
TN Q@ 7 AR F 3R & g

g9z 9§ =1 75 © -
() =\

(2 =W

(3) T

(4) ==
Options:-

«1, Option ID :- 97,
=« 2, Option ID :- 98,
=« 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 26

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126... 12/60
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‘g% 48 # Fud R, Od @ E So-oga 1, dfed H SHABR B |
(1) 3=9H1
(2) w9
(3) FHH
(4) S1IH
Options:-

«1, Option ID :- 101,
= 2, Option ID :- 102,
« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

Freferfed § aeam e ® -
(1) =&
(2) T
3) =
(4) =®
Options:-

«1, Option ID :- 105,
=« 2, Option ID :- 106,
=« 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28

frreferfad & qeve oeg & -
(1) =4
(2 ==
(3) THA
(4) fe=w
Options:-

«1, Option ID :- 109,
=« 2, Option ID :- 110,
=« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126... 13/60
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freafafed o aoaw - qgve &1 HE 9a © -
(1) & - sl

(2) Hfer - ga
(3) FA - FEH
4 gR- Y«
Options:-

«1, Option ID :- 113,
« 2, Option ID :- 114,
= 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Response Sheet

Question ID:- 30

‘“fou1 ' o ¥ -

(1) sT&gHw, gaf, =g
(2) STEHY, gaft, &

(3) uel, <, =gH

(4) =, ==, G

Options:-

«1, Option ID :- 117,
=« 2, Option ID :- 118,
=« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Question ID:- 31

‘siF T A A § -
(1) wen

(2) Mg

(3) =™

(4)
Options:-

«1, Option ID :- 121,
= 2, Option ID :- 122,
=« 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126... 14/60
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(1) ST T
(2)  SIHOT AT
(3) TN
(4) SUSM
Options:-

«1, Option ID :- 125,
« 2, Option ID :- 126,
=« 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33

‘FUS SR’ & e ) oHeR ST Sl § -

(1) <@ - 91 § gHeHs
(2) I Y A I W@

(3) HedTm, F H gh
(4) SR TR F92 TS

Options:-

«1, Option ID :- 129,
« 2, Option ID :- 130,
=« 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

‘erga’ o faeid e @ -
(1) =

(2) STEd

(3) HcAs

(4) SHRAT
Options:-

«1, Option ID :- 133,
« 2, Option ID :- 134,
« 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126...
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‘oo’ = fareim wes § -
(1) faqem
(2) e
(3) fefem
(4 =
Options:-

«1, Option ID :- 137,
= 2, Option ID :- 138,
=« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Question ID:- 36

“wfgeT’ 1 HHF 9gT9T €9 © -
(1) wfeen

(2) wfEee

(3) wfeat

(4) wfgend

Options:-

«1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

W+Qaﬁ¥fﬁi%—
(1) 9=

(2 W&

(3) Wed

(4) W=
Options:-

«1, Option ID :- 145,
« 2, Option ID :- 146,
=« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38
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‘ grian’ = wfY - o= B -

(1) o+ =iem
(2) o+
(3) o1+ el
(4) o+ dien
Options:-

«1, Option ID :- 149,
« 2, Option ID :- 150,
=« 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Response Sheet

Question ID:- 39

I[G 9T I ISRV T -

(1) 38 el |

(2) M U YA |

(3) AU =g fim & A
(4) SA9F 1S 9 AT
Options:-

«1, Option ID :- 153,
= 2, Option ID :- 154,
=« 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

‘dres-ies =er aren’ & fou us weg § -
(1) forsx

(2) o

(3) STIFA

(4 oz

Options:-

«1, Option ID :- 157,
« 2, Option ID :- 158,
« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : GK_Q41-Q60_JA01MARSH2

Question ID:- 41
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Among the following countries, which one holds the highest rank in the World Economic Forum's
‘Global Gender Gap Index-2022'7?

(1) Germany

(2) Switzerland

(3) France

(4) United Kingdom

IeE SHHIHF BRY F TelEe Sl 19 geam-2022" § frefafaa v ¥ 9 forg o o e gai=g 8 2

(1) A

(2) WSS

(3) wiH

(4) FAES freH
Options:-

«1, Option ID :- 161,
= 2, Option ID :- 162,
=« 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161

Question ID:- 42

Which of the following countries assumed the Presidency of G-7 for the year 2022 ?
(1) US.A

(2) Canada

(3) Germany

(4) Japan

ffafea oo 9 9 frgs ad 2022 & fau sit-7 & s1ememr T80 & ?

(1) FTEE
(2) =T
(3) At
(4) SmEHE

Options:-

«1, Option ID :- 165,
« 2, Option ID :- 166,
=« 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43
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“Harimau Shakti-2022" is a joint military exercise between two countries. Identify the countries :
(1) India - Indonesia

(2) India - Sri Lanka

(3) India - Malaysia

(4) Sri Lanka - Bangladesh

“eftas wife-2022 " € S % W19 Ueh e ST SIVATE %1 M © | 3 S0 I IEHH e

(1) 9d - geMfer
(2) WA - iR
(3) A - HeAfer
(4) diciehT - STy
Options:-

«1, Option ID :- 169,
« 2, Option ID :- 170,
« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 44

Financial Services Institutions Bureau has been constituted by the Central Government, effective
from July 01,2022. Which of the following statement/s is/are correct about it’s functions :

(A) It builds a databank containing data related to the performance of Public Sector Banks.

(B) Itadvises the Government on the desired management structure at the Board level for Public
Sector Banks and Financial Institutions.

Select the correct answer using the code given below :
(1) (A) only

() (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

2

g THER F, 1 ems 2022 F g forft dar geum =330 1 e faa €1 59 el & en H frefafag
Forl § | FHH-H T T

(A) I TS 99 F ] F RHEN ¥ Gl STHF 921 9% G9R FE T

(B) IE UESIfeh &1 % Skl IR faria Trumi & fau 9 'R W aifed JareE S T 9iER F 9ae

g gl
== fou T Fe w1 YA R TE ST A A H
(1) e (A)
(2 %9 (B)

(3)  (A) ¥R (B) 3
(4) (A) 3 (B) H F FiE =&
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Options:-

«1, Option ID :- 173,
= 2, Option ID :- 174,
=« 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Response Sheet

(1)
(2)
(3)
(4)

Question ID:- 45

Russian Federation
Czech Republic
Vietnam

India

(1) &5 59
(2) = MU
(3) faaaam
(4) HRd
Options:-

«1, Option ID :- 177,
= 2, Option ID :- 178,
« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 1, Option ID : -177

International Investment Bank(IIB) is an international organization based on the intergovernmental
agreement. Which of the following is not a member-state of this organization ?

‘TS TR A (TR, TR, o) SAEE TS % SR W Tfed Us sy e §
FrAfafed o 9 $F 79 W1 w1 9 T 6l &7

(A)
(B)

(1)

3 D

(2)
(3)
(4)

=

Question ID:- 46

Which of the following statement/s is/are correct ?

Alzheimer’s disease is a degenerative brain disease resulting in progressive memory loss.

Dementia is not a disease, but a syndrome.

(A) only

(B) only

Both (A) and (B)
Neither (A) nor (B)

Select the correct answer using the code given below :
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frefafed oAl 8 4 FF-%F @ Td 22

(A) STESIEFR W T &Rl Hieaen I € e s w9 9 fa g9 8n o 81
(B) Teiform =¥ siwrt =&, afeer Tk fagm (wmee) 1

i f&U Ty e = AR FHEh HWel I H T h

(1) Faa (A)

(2) ad (B)

(3) (A) ¥R (B) g

(4) (A) 3R (B) H & *rE &
Options:-

«1, Option ID :- 181,
= 2, Option ID :- 182,
=« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

India’s first indigenous mRNA vaccine technelogy to fight Covid-19 was developed by which of
the following institutes ?

(1) National Institute of Immunology

(2) National Institute of Virology
(3) Centre for Cellular and Molecular Biology and Council of Scientific and Industrial Research
(4) Indian Institute of Science and National Institute of Biomedical Genomics

FIfae-19 ¥ &g & U, IRA 1 Ugcll @awit mRNA ST deia i f=fafeas § 9 g g =
fasiaa o ?

(1) T gfeeefes §eam

(2) AU TSR SATF aEersi
(3) HIRWR UH e Sfafaam %5 it S U efie srgEum aie
(4) R faam Seem oiR AeFe sege e Tamfena fSEifm

Options:-

«1, Option ID :- 185,
=« 2, Option ID :- 186,
« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48
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I—ﬁmalayan Ecosystem ?
2

4

«1, Option ID :- 189,
=« 2, Option ID :- 190,
« 3, Option ID :- 191,
= 4, Option ID :- 192,

(2) Ministry of New and Renewable Energy
(3) Ministry of Environment,Forest and Climate Change
(4) Ministry of Science and Technology

T & ?

(1) el HEEH, el fashre we 7 S H3ed
(2) & TS TR IS HAH

(3) TITE, g9 IR ey ufiedy Hared

(4) faam & iRt e

Options:-

Answer Given:- 3, Option ID : -191

Response Sheet

(1) Ministry of Water Resources, River Development and Ganga Rejuvenation

In India, which of the following is the nodal ministry for National Mission for Sustaining the

IRd #, ‘feurem a3 & ulftafas §3 &1 99 & fou ud aifiem’ & fou frefafaa 8 9 $9-a1 Fed

Question ID:- 49

List (I)

(Artists)
(1) Anita Ratnam
(2) Sarita Devi
(3) Gopika Varma
(4) Damyanti Joshi :

= (1)

(e )
(1) sIfFar
(2) G <&
(3)  Tifues gH
(4)  EHEI ST
Options:-

=1, Option ID :- 193,

List (IT)

(Dance)
Kathakali
Sattriya
Mohiniyattam
Bharatanatyam

T (I1)

(T)
FUHA]

IR

Hife gy
AT

gt (1) H el o A S 1 FE (1) H I F AW E, S J 318
frefafaa § #F-a1 779 gafem 72 22

List (I) contains names of artists. List (II) contains dance forms they perform. Which one of the
following pairs is correctly matched ?
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= 2, Option ID :- 194,
=« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 4, Option ID : -196

Question ID:- 50

List (I) contains names of folk theatres. List (II) contains states where they are popular. Which of
the pairs in List (I) and List (II) is correctly matched ?

List () List (IT)
(Folk Theatres) (States)
(1) Bhavai : Rajasthan
(2) Swang : Karnataka
(3) Tamasha : Bihar
(4) Mudi Yettu : Tamil Nadu

g (1) T e A1 o A € Vg (1) H 39 Ol % AW €, 561 9 ufag € Vg (1) $iR g (1) H feu e gt
H ¥ #H-o gafed 2

gl (1) =it (I0)

(el A=) ()
(1) =8 . TS
(2) & S S EC
(3) ;. fer
(4 Ry dfeg
Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
« 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51

Placing the oldest event at first in the sequence, arrange the following historical events in the
correct chronological order :

(A) Emergence of Bangladesh as an Independent nation

(B) Overthrowing of Shah of Iran

(C) Launching of the self-respect movement in Tamil Nadu by Ramaswamy Naicker
Select the correct answer using the code given below:

(1) (A, (B), (©
(2 (O, (B), (A)
(3)  (©) (A), (B)
4)  (B) (©), (A)
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Tag YT AT 6 FH H 9 veel W gy, Frefatas e seedl #1 9t sese | ge
(A) SARY FH TF @ad TL F I H 389
(B) 3T % Y I Ug=gd fopam s
AfHerTg, | TR AR %GR WA STaler i JEsd
== U 7T 2 &1 TAN ek Fal ST A A FL

(1 (A), (B), (O
(2 (©. (B), (A)
3 (O, (A ), (B)
4 (B), (©), (A)
Options:-

«1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

Who, among the following, has been honoured with Padma Vibhushan for 2022 ?
(1) Najma Akhtar

( Ghulam Nabi Azad

(3) Sundararajan Pichai

(4) Prabha Atre

frefafea § 4 < ad 2022 % fag gafayso § Fifa fem = 22
(1) o1 3R

(2) T el AW

(3) GewsH fu=g

(4) 9w A
Options:-

«1, Option ID :- 205,
=« 2, Option ID :- 206,
=« 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- Not Attempted

Question ID:- 53
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Consider the following statements :

(A) National Commission for Scheduled Castes and National Commission for Scheduled Tribes
are Constitutional bodies.

(B) National Commission for Women and National Commission for Backward classes are not
Constitutional bodies.

Which of the above statement/s is/are correct ?

Select the correct answer using the code given below :
(1) (A) only.

(2) (B) only.
(3) Both (A) and (B)
(4) Neither (A) nor (B)

frefafed waai W faam =

(A) T sTgiea sifa S iR U sTgfea sHenfa st gaenter e § 1
(B) U wigem s oI Ukt ufwer o strim dawnfaes freem 72 %)
I Al H W HA-HAH U HE § 2

1= 2T 3T %2 1 YART ik TEl ST H A B ;

(1) e (A)

(2) &= (B)

(3) (A) R (B) <l

(4) (A) 3T (B) | 9 g T

Options:-

«1, Option ID :- 209,

« 2, Option ID :- 210,

« 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

Which of the following statements is not correct about the “No-Confidence Motion” with respect to
the Parliament of India ?

(1) A ‘No-Confidence Motion” must have specific reason(s) on which it is based.

(2) A ‘No-Confidence Motion” cannot be moved against an individual minister.
(3) Rajya Sabha is not empowered to entertain a motion of no-confidence.
(4) The Speaker has the power to decide whether a motion of no-confidence is in order or not.
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IR & GHE & Ty § sifavam y&d| & a) ¥ FHefafed s § 9 S 98 79 82
(1) U SAfavam y&e § e e @ 2m eavas € 59 W s snefia 21

(2) Tl wp O30 o fawg stfavary wedre =& @ S Hehdl € |

(3) T |1 1 ifavery & W faar T F AfHER 78 8

(4) rfovar yEaE FEH-HTG € 41 99, F8 0 oF @ eIy % Uy SAfueR A e
Options:-

=1, Option ID :- 213,
=« 2, Option ID :- 214,
=« 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Which of the following statements is not correct about the Estimates Committee of the Parliament

of India ?

(1) It consists of 30 members from the Lok Sabha.

(2) It makes a detailed examination of the annual budget estimates.

(3) It can examine the working of a policy.

(4) It consists of 20 members from the Lok Sabha and 10 members from the Rajya Sabha.

YR % THE I YnRe |fbfa % 9 § Frefafed o | 8§ h-w 98 18 €2
(1) 39 §fAfd 2 30 TE= & 991§ 2 €1

(2) e it T STHEE i foga Sife T §1

(3) =g ferdt +ifq o SHIHERTS S THIS H HF 2

(4) 39 Gfd § 20 TS &k 9§ SR 10 9 9 1 4 o s
Options:-

«1, Option ID :- 217,
= 2, Option ID :- 218,
=« 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Question ID:- 56

In which of the following states there is no Legislative Council ?
(1) Andhra Pradesh

(2) Maharashtra

(3) Uttar Pradesh

(4) West Bengal
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FreAfetied Tl 8 @ forar uiteg 78 82
(1) 3y gew
(2) HeNrE
(3) W YW
(4) 9fe=d S
Options:-

«1, Option ID :- 221,
« 2, Option ID :- 222,
=« 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

Which of the following statement/s is/are correct ?
(A) Shield volcanoes are mostly made up of basalt.

(B) The Hawaiian volcanoes are examples of Shield volcanoes.

Select the correct answer using the code given below :
(1) (A) only

(2)  (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

frefafad wuei § | HE-sHTE 98 & 2

(A) oo sammE ge: sgwe 9 ffdd 20§

(B) TR BT % SAE! RIS Saran @t & eI €
= fou T %2 =1 TAN 3k Fal ST H 97 B

(1) e (A)

(2) 9 (B)

(3) (A) 3R (B) EF

(4) (A) @R (B) § § #E Tél
Options:-

=1, Option ID :- 225,
« 2, Option ID :- 226,
=« 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58
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Which of the following statement/s about La Nina is/are correct ?

(A) It is another name for El Nino,

(B) The tropical Pacific trade winds become very strong in a La Nina.
Select the correct answer using the code given below :

(1) (A) only

(2)  (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

‘o S % e | frefafad sl 3 | - Te

(A) T ‘uE A @ gEa A R

(B) ‘@’ % STwia I HiHHT JIN HRENRE SAIE Yo Hael 7 Sl 8 |
= fou T %2 =1 TAN 3k Fal ST H 97 B

(1) e (A)

(2) Fad (B)

(3) (A) R (B) qH
(4 (A) 3R (B) § 1S T
Options:-

«1, Option ID :- 229,
= 2, Option ID :- 230,
=« 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

Sujeet Mann, a winner of Dronacharya Award 2022, is a coach of which of the following sports ?
(1) Parashooting

(2) Boxing
(3) Wrestling
(4) Archery

ST QUERR-2022 % oS geita 9 frafafas § 4 fea @ & F: = (sfnes) €2

(1) gl
(2) HFREST
(3) Fwi
(4) s
Options:-

«1, Option ID :- 233,
= 2, Option ID :- 234,
=« 3, Option ID :- 235,
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= 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

B.C. Suresh has been conferred upon the Dhyan Chand Award 2022 for his out standing
contribution to which of the following sports ?

(1) Wrestling

(2) Shooting
(3) Kabaddi
(4) Badminton

4. g = Fefafed § 9 f5m 8 § 39 Sop= arer # fau eme< [Eepr-2022 98 fFan 7
2?2

(1) Fw

(2) TSt
(3) wwag
(4) wefa=A
Options:-

«1, Option ID :- 237,
=« 2, Option ID :- 238,
=« 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- Not Attempted

Subject : LR_Q61-Q80_JAO1MARSH2

Question ID:- 61

In the following question, there is certain relationship between two given words on left side of
(: 1) and one word is given on another side of (: :) while another word is to be found from the given
alternatives, having the some relation with this word as the given pair has. Select the logically
correct alternative.

Grapes : Climber : : Bamboo : ?

(1) Tree

(2) Shrub
(3) Creeper
(4) Grass
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P o 4§ () % ol 3iR fou 7o vredi o ua fAfvem deg 3 (c:) 3 3ud SR U vies foar T § e
T T vt 1 fou T faenedt | 9 96 e © e Gey ued el I S | 9ehgd He fasey

(1) .

(2 @

(3) Tomdt @en

(4 =N
Options:-

=1, Option ID :- 241,
=« 2, Option ID :- 242,
=« 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- Not Attempted

Question ID:- 62

Find the 515 term of the following series :
12, 15, 18, 21, . ..

(1) 231

(2) 162

3) 172

(4) 150
freferfaa 4oft =1 51 & ve F1d e |
12, 15,18 21, . .
(1) 231

(2) 162

3) 172

4) 150
Options:-

=1, Option ID :- 245,
= 2, Option ID :- 246,
=« 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63

Pointing to the man in the photograph, Aman said, “I have no brother or sister but this man’s son's
mother is the daughter-in-law of my mother.” Whose photograph was it ?

(1) HisSon's

(2) His Own

(3) His father’s

(4) His father-in-law’s
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RIS © ek Y&Y o1 3R Hehd &d §U 97 3 el ' AU 618 WIS 2 9 el © I 39 I89 o T i,
B gy ¥ Te e WA § 2
(1) 39 g3 1

(2) SE&AI HAIA

(3) 3k far =

(4) 39k THL H
Options:-

=1, Option ID :- 249,
= 2, Option ID :- 250,
=« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- Not Attempted

Question ID:- 64

The following question consists of a group of letters in which all of them, except one, share a
common similarity. Select the odd one :

CX, EV, GT, 1Q, KPP, MN

(1) EV
2 1Q

(3) CX
(4) MN

1 wee | el o1 e © o U Al See 9t § geE guEwa § | fau g e
CX, EV, GT, IQ, KP, MN

(L) BY
(2 1Q
(3) CX
(4 MN
Options:-

«1, Option ID :- 253,
= 2, Option ID :- 254,
« 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- Not Attempted

Question ID:- 65
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Which sequence of letters when placed at the blanks one after another will complete the given
letter series ?

g-E-8§-_ B _1- 55 _8

(1) rsrsrt
(2) rsrstt
(3) srtrst
(4) sttsst

o 21ari =1 STTT U & 18 Ush @ietl ¥ T 1@ 9 &1 T8 981 1 9ol qof 21 St ?

s t_ s s 1 ssr_s
(1) rsrsrt

(2) rsrstt

(3) srirst

(4) sttsst
Options:-

=1, Option ID :- 257,
=« 2, Option ID :- 258,
=« 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Question ID:- 66

Find the next term of series :
EW, GT, IQ, KN, MK, OH, ?

(1) WE
(2) QE
(3) WF
(4 QF

goit EW, GT, IQ, KN, MK, OH, 2

H STeT Y€ H6 Shifeg |
(1} "WE

(2) QE

(3) WE

(4 QF
Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- Not Attempted

Question ID:- 67
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In a certain code language ‘CAMEL" is written as ‘ddrhm’ then how will ‘HORSE’ be written in
that language ?

(1) grwuf
(2) irwvf
(3) gnwuf
(4) inwvf

ot %2 91 § 'CAMEL’ =l “ddrhm’ for@n St 2, o1 39 s § ‘HORSE' %l o4 foran s ?

(1) grwuf
(2) irwvf
(3) gnwuf
(4) inwvf
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
« 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- Not Attempted

Question ID:- 68

‘Fabric’ is related to ‘Fibre” in the same way as ‘Paper’ is related to which of the following ?

(1) Tree

(2) Notebook
(3) Pulp

(4) Wood

S s (FUen), wEe (W) ¥ Heatud § 99 & I (we) e 9 T § deifia &2
(1) s

(2) @ (FegF)

(3) 99 (FIRH)

(4) el

Options:-

=1, Option ID :- 269,

= 2, Option ID :- 270,

=« 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- Not Attempted

Question ID:- 69

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126... 33/60



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 1:51 PM Response Sheet

The following question consists of a group of numbers in which all of them, except one, share a
common similarity. Select the odd one :

4, 8, 16, 36, 64, 144, 256

(1) 8
(2) 36
(3) 64
(4) 256

9 e o dens 1 9 § 59y o o Sres 9l | guH 9ueydl 21 faum @ g Fie
4, 8, 16, 36, 64, 144, 256

(1) 8
(2) 36
(3) 64
(4) 256
Options:-

=1, Option ID :- 273,
=« 2, Option ID :- 274,
« 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- Not Attempted

Question ID:- 70

Choose that set of numbers from the following four alternative sets, which is similar to the given
set : (256, 64, 16)

(1) (304, 76, 19)
(2) (400, 100, 50)
(3) (516, 129, 32)
(4) (284, 72, 18)

Trefafad ar dwfeas Tugi 9 9 37 Femnsil & 998 #1 g7@ iy S f# 5 7w 597 (256, 64, 16)
HHEY ¢

(1) (304, 76, 19)

(2) (400, 100, 50)

(3) (516, 129, 32)

(4) (284, 72, 18)

Options:-

«1, Option ID :- 277,
« 2, Option ID :- 278,
=« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- Not Attempted

Question ID:- 71
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If 'S % T” means ‘T is the father of S, S # T means ‘S is the son of T" and 5 ¢ T means ‘T is the
husband of S’ then what does A ¢ B%C # D means :

(1) A is the mother of C

(2) B is the grandson of D
(3) D is the father-in-law of A
(4) C is the father of A

AR SU T F A 'T, SHIUME' SHTHF AA 'S, TH FR SRS HTHAGZ'SHU@T ' &
AdBUCHD FT AL & :

(1) ACHTR

2) BDHUAR

3) D, AFHE

(4) CAFTME
Options:-

=1, Option ID :- 281,
=« 2, Option ID :- 282,
=« 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- Not Attempted

Question ID:- 72

In the following question, a series is given, with one term missing. Choose the correct alternative
from the options given below that will complete the series :

W130C, U124 F, 51121, Q94L, 2?2 , M40R, K4U

(1) P700
(2) O70P
(3) 0700
4) 0720

ot o © wek Soft <1 %, e ues ve faqa §1 feu u fasedi § & 39 faskey w1 gfw s Soft 6ol
FEE :

W130C, U124F, S1121, Q94L, 2?2 , M40R, K4U

(1) P700
(2) O70P
(3) O700
4) 0720
Options:-

«1, Option ID :- 285,
= 2, Option ID :- 286,
=« 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286
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Question ID:- 73

In a certain code language ‘EYE" is coded as “46" and ‘BIT" is coded as ‘50’. How will “TIE’ be coded
as that language ?

(2) 37
(3) 42
(4) 43

Tt F1E T 91§ 'EYE’ &1 1S ‘46’ 3BIT &1 &S ‘50° §1 TH 919 § “TIE &1 &S 51 201 2

(1) 36
(2) 37
(3) 42
(4:) 43

Options:-

=1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- Not Attempted

Question ID:- 74

Which of the following words cannot be formed using the letters of the word :
‘COMMUNICATION’ ?

(1) MOTION

(2) NATION

(3) COMMUNITY
(4 COMMON

Frfafaa fed ™ o= § 9 formen o8 T8 =g 1 ‘COMMUNICATION’ & 3{&ri & fafia =&f favan =

Hehell & 7

(1) MOTION

(2) NATION

(3) COMMUNITY

(49 COMMON
Options:-

«1, Option ID :- 293,
= 2, Option ID :- 294,
=« 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75
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The following question consists a group of words in which all of them except one share a common
similarity. Select the odd one:

(1) Sarod

(2) Sarangi

(3) Vina

(4) Mridangam

7= weq § vr=d] 1 wE 2 foud w i S 9efl § 9uE guEyd €1 fave w1 gae Fif

(1) =%
(2) =R
(3) @
(4 ™
Options:-

«1, Option ID :- 297,
= 2, Option ID :- 298,
=« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- Not Attempted

Question ID:- 76

In the following question, there is certain relationship between two given numbers on left side of
(: ;) and one number is given on another side (: :) while another number is to be found from the
given alternatives, having the same relation with this number as the given pair has. Select the
logically correct alternative.

F:8805% :5:7
(1) 80

(2) 100

(3) 120

(4) 130

e gea H () 3 9 @R & wé < gemedl ¥ v ffead dey € e (o) % gad o us den & T
Srefer ORI U e w1 fou T faskedl § 9 9 e @ formes e s e § gt 9t g S ¥

dehETTd el fashed sl e hifaT |
F:350: 25 17
(1) 80
(2) 100
(3) 120
(4) 130
Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
=« 3, Option ID :- 303,
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= 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

In the following question each letter has been numbered. Choose the option which gives the
correct order of the letters as indicated by the numbers to form a meaningful word.

A D F | R X
1 2 3 4 5 6

(1) 246135
(2) 326541
(3) 354216
(4) 421365

= v § s 1R % fou uw gen T 21 39 fawen @ gAe Fifew S for feu e st §
Stefqul v o % fory st % wEl o 1 Ffde e e

A D F I R Y

1 2 3 4 5 6

(1) 246135
(2) 326541
(3) 354216
(4) 421365
Options:-

«1, Option ID :- 305,
« 2, Option ID :- 306,
=« 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78

The following question consists a group of words in which all of them except one, share a common
similarity. Select the odd word.

Blouse, Coat, Polo-Shirt, Sweater, Waist Coat, Trouser, T-Shirt

(1) Coat
(2) Blouse
(3) T-Shirt
(4) Trouser

71 we H wisa] =1 We & TorH U 1 Siga 9 H §HE qHEYal ¢ | faud s o gE FifS)
ASH, Fie, G-, TR, IR Hi, TS (I ), H-32

(1) =

(2) =ARS

(3) 2L

(4) SISSI (IESTHI)
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Options:-

=1, Option ID :- 309,
= 2, Option ID :- 310,
« 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 1, Option ID : -309

Question ID:- 79

Choose the option which can be put after the set of words to make all of them meaningful

words :

BAND, FOOT, OVER, PACK
(1) OR

(2) TH

(3) AGE

(4) ER

3% faspey &1 g9 sifse s fo fou o vresi o 9qe & 9 § foes = gsit i s1efqol 9reg &1 3 -
BAND, FOOT, OVER, PACK

(1) OR
(2) TH
(3) AGE
(4) ER

Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
=« 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- Not Attempted

Question ID:- 80

Rearrange the jumbled up letters to form meaningful words and then choose the one which is
different from others.

(1) NSAD
(2) LIOS
(3) LACY
(4 ETER

Freafe el # U AT #iX 1Yu v FAe oiR i 39 v o g wifee st fE o= & e

(1) NSAD
(2) LIOS
(3) LACY
(4) ETER

https://kvsexam01march23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204126... 39/60



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 1:51 PM Response Sheet
Options:-

«1, Option ID :- 317,

= 2, Option ID :- 318,

=« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- Not Attempted

Subject : CL_Q81-Q100_JA01MARSH2

Question ID:- 81

The two kind of main memory are :
(I) RAM and ROM

(2) Primary and Secondary

(3) Static and Dynamic
(4)

4)  Direct and Sequential

pletel TR (Main Memory) % T THER T :

(1) @iy

(2) UEE SR HEHSd

(3) Wfew IR erAfH
(4) TEWRE AR HEEEa
Options:-

=1, Option ID :- 321,
« 2, Option ID :- 322,
« 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Using output devices one can
(1) scan data

(2) store data

(3) view/print data

(4)

4 process data

SIS A & W A 7
(1) =11 ShA o Tahd §
(2) =Rl Hufed % HHd §
(3) @RI @/ T Hahd §
(4) STRIHEE % TFd &
Options:-

=1, Option ID :- 325,
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= 2, Option ID :- 326,
=« 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83

Multiprogramming computer systems :

(1) Execute each operation faster

(2) Execute multiple jobs in the same time period
(3) Execute multiple jobs with lesser efficiency
(4

Execute single operations using multiple channels

TR TATTHT St qunferi :

(1) SUlRA (STTREM) 1 Seal T FHdl 8

2) U g afy § fafu= w5t o g s E

(3) Tafy= ml il FHa 99 | 0 HA @

(4) fafir= medi (S9e)% 9Em | Ukl gismasdi o g e §

Options:-

«1, Option ID :- 329,
« 2, Option ID :- 330,
« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

Computers use number system fo store data and perform calculations.
(1) Binary

(2) Decimal

(3) Octal

(4) Hexadecimal

e HURY 3R ufEhe & fau et He&A U] 31 39ER A ©
(1) =

(2) cSfama

(3) st

(4) THrEfgga

Options:-

=1, Option ID :- 333,
=« 2, Option ID :- 334,
=« 3, Option ID :- 335,
= 4, Option ID :- 336,
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Answer Given:- 1, Option ID : -333

Question ID:- 85

Which of the following options consist of only input devices ?
(1) Scanner, Monitor, Keyboard

(2) Scanner, Joystick, Plotter

(3) Joystick, Light pen, Web camera

(4)

4 Light pen, Head phones, Projector

frefetad # & foa fosheq H e 3792 39 A § 7

(1) THR, 9, FEe

(2) TR, FEfEE, Wi

(3) WAl @E2 T, 99 FH

(4) ©EE UF, TSHAE, iR
Options:-

«1, Option ID :- 337,
= 2, Option ID :- 338,
=« 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86

Expanding the term CPU, we get :
(1) Central Printing Unit

(2) Central Peripheral Unit

(3) Central Preprocessing Unift
(4)

4 Central Process.ing Unit

i (CPU) vres =1 faea | 19 % -
(1) ¥ea fifen gfe

(2) @ Uit gfte

(3) Hew fomrafET gfe

(4) Hega wwfET gfe
Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87
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A computer that exhibit features of both analog and digital computers is known as a :

(1) Twin computer

(2) Mainframe computer
(3) Super computer

(4) Hybrid computer

o Fege # wE oiR fefses el & @ 1 €, S8 = &hed €72

(1) oo sz
(2) HTHH FHX
(3) R FIR
(4) BrfE HgX
Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

Which of the following is NOT an operating system for mobile phones ?
(1) Android

(2) 10S
(3) webOS
(4) Unix

frafafea § 4 =0 Hieed BF &1 U 9iEe gt T8l @ 2

(1) tghrE
(2) smsiE
(3) Ha-sig
(4 A

Options:-

=1, Option ID :- 349,
= 2, Option ID :- 350,
=« 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89
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The individual dots which make up a picture on the monitor are called :

(1) Pixies
(2) Pixels
(3) Points
(4) Pricks

el W T &R (T9e=R) =l §E & a5l T f6g3il i 30 &ed © ?

(1) Tafems
(2) Tosest
(3) UEH
(4) fued
Options:-

=1, Option ID :- 353,
=« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

Which of these statements explains the importance of a file extension ?

(1) When a file has an extension, users can open files in applications they don’t own

(2) When a file has an extension, the computer can decide what application to open it in.
(3) When a file has an extension, the computer is allowed to store metadata about it.
(4)

4)  When a file has an extension, the computer knows how much memory is needed to open it.

frefafed § 9 #H-1 F2H UF Wgd THEYH % e #l Ui & 2
(1) & e § UHEYH B, G SRl 37 Tiehyd § off Tsel Widt e ¢ Sif 37 99 &l §

(2) & A H THHEH B, A1 S U8 99 L Gehdl ¢ (o 39 TRy TEitheH | @ier §

(3) TS st H UAGIYH @, o FEK % U SHH Herert gufed w1 it orHfa Eidt ¥

(4) 9 FEA H T B, Al R Hl AHHN Bl ¢ foh 39 Wiet o fore feme=t T 1 sravasd &
Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
=« 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91
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Which of these program will you choose to write a letter to the head of an institution :
(1)  Word Processor

(2) Presentation Software

(3) Graphics Processors
(4)

4) Spread Sheet

TS S8 F oA & 94 o % faw sma 538 9 g v &1 3wr 481

(1) =S JHE

(2) USicIE WReaR

(3) Ut THET

(4) e
Options:-

«1, Option ID :- 361,
= 2, Option ID :- 362,
« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92

What do you call the word processing task associated with changing the appearance of a document
along with fonts and colours ?

(1) Editing

(2) Formatting
(3) Type setting
(4) Alignment

fordit weta =i T, i AR U1 9eeH | Haftd g YrafET 51 w1 i e € ?

(1) ¥uea (ufefem)

(2) IHTE

(3) 2w Hid

(4) H@w (AaETHe)
Options:-

=1, Option ID :- 365,
« 2, Option ID :- 366,
« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93
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The default page orientation of MS5-Word document is
(1) Portrait

(2) Landscape

(3) Long scape
(4)

4)  Flip scape

U THLY 92 Joiw F uiia e sfufamy (sifdem) €m g

(1) dRe

(2) cieEHy

(3) ®FTERY

(4) forea =y
Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
« 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

MS - PowerPoint presentations use pre created design styles to regulate the layout, color schemes
and formatting that are known as :

(1) Templates

(2) Blueprints
(3) Placeholders
(4) Auto styles

THUH YR Uige Y&gfadl | &=, T SR S0 7 # & fou gd v fesmea dfesi =1 w2 2 ¢, 3%
== H'TE-’?T % :
(1) TP
(2 =fieE

(3) wHEeeH

(4) e wEe
Options:-

«1, Option ID :- 373,
= 2, Option ID :- 374,
=« 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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Which of the following MS-PowerPoint view display a presentation as titles and main text only ?
(1) Slide view

(2) Outline view

(3) Notes page view
(4)

4 Thumbnail view

Frafafea § w1 faswey = 9er dige wEgfa & hae vitE dR THE FEE H 9T Yeiid e &2

(1) =wEs

(2) SAIRCART &
(3) U
(4) g

Options:-

«1, Option ID :- 377,
=« 2, Option ID :- 378,
« 3, Option ID :- 379,

=« 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96

The intersection of a column and a row in an Excel worksheet is called

(1) Cell

(2) Range

(3) Box

(4) Reference

e UAE aehviie H e X U % wfdesed =l e B |
(1) Fa@

(2

(3) @

(4) T
Options:-

«1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97
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The process of arranging the various records within a file in a given order or sequence is called :
(1) Classifying

(2) Summarising
(3) sorting
(4) Ordering

T Hzd ° fafy= e =1 us FHfvem on ¥ =afted #39 $1 9fsHa & @0 e ¢ 2

(1) =FfEwEET

(2)  EERTSIS

(3) wifd

(4) oS
Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
« 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98

Which of the following ICT initiative of MHRD deals with e-governance for institutions and
universities ?

(1) SWAYAM

(2) SAMARTH
(3) VIDWAN
(4) InDG

3TH § TAUSARE] (MHRD) i HiA-Hl SEHel e H&IHi iR fagafoamesl & - ¥ Hafud € ?
(1) =& (SWAYAM)

(2) ¥\ (SAMARTH)
(3) fagm (VIDWAN)
(4) STEETEST (InDG)

Options:-

=1, Option ID :- 389,
« 2, Option ID :- 390,
=« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99
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The process of buying and selling goods and services over the Internet is popularly known as :
(1) e -commerce

(2) e-trading

(3) e - finance
(4)

4 e - buying

2T W 9 3 darel i Ele-Fie it 9o & e G T 1 Fed § 2

(1) E-=Ed
(2) z-efem
(3) I-WEHH
(4) S-S
Options:-

«1, Option ID :- 393,
= 2, Option ID :- 394,
« 3, Option ID :- 395,

=« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

Choose from the following recent government initiatives a scheme that promotes e - governance in
India ?

(1) Digilocker

(2) Daroga Portal
(3) Aadhaar kiosks
(4) Make in India

Frefafad § | 39 gifen Sl 98e o1 I8 &, S 9Rd H S99 &l F6[al odl § 7

(1) fesiers

(2) =mHEd

(3) MR s

(4) He 3 gfean
Options:-

=1, Option ID :- 397,
« 2, Option ID :- 398,
=« 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Subject : QA_Q101-Q120 _JAO1MARSH2

Question ID:- 101
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Thevalueoszl— ZE+ 1 §+ Z is equal to :
3 6 4 B8

——
'—"

e
M=

S
w
W= K= R =

3 3
1
4 g =
(4) 5
41 55,13, 7 mramaren d
3 6 4
1
N =
(1) 5
1
2 3=
(2) 5
1
3 g=
(3) 5
1
4 4 —
(4) 3
Options:-

«1, Option ID :- 401,
= 2, Option ID :- 402,
=« 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- Not Attempted

Question ID:- 102

When 1344, 2196 and 3687 are divided by a two-digit number x, the remainder in each case is y.
What is the value of (x—y) ?

(1) 5
(2) 6
3) 9
(4) 11
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ST 1344, 2196 3R 3687 1 Uk qI-3HF H&A x H 9 1 S0 8, a1 Yedsh e 5 Y9hel i @l 8

(1) 5
(2) 6
(3)

(4 11

Options:-

=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- Not Attempted

Question ID:- 103

The value of \/0.09 + /8 x 128 + ~/0.49 is equal to :

(1) 65
2) 51
(3) 39
(4) 33

J0.09 + VBx 128 + /049 1 HH IUH & ;

(1) 65
(2) 51
(3) 39
(4) 33
Options:-

«1, Option ID :- 409,
« 2, Option ID :- 410,
=« 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- Not Attempted

Question ID:- 104

If a 9-digit number 5x29438y6 is divisible by 88, then which of the following is not true ?

() x=1y=1

(2) x=4,y=9
(3) x=9,y=8
(4) x=8,y=>5
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(1) x=1,y=1
(2) x=4,y=9
3) x=9 y=8
(4) x=8,y=5
Options:-

«1, Option ID :- 413,
= 2, Option ID :- 414,
=« 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- Not Attempted

Response Sheet

Ife 9 —3{1a HE&A 5x29438y6, 88 § fawsy B, @ =1 § & H17-91 79 =& 87

Question ID:- 105

(1) 4.9
2) 5.3
(3) 5.8
4) 6.2

V16 + 67 — 16 — 6 +/7 1 9 T & fieheas &

(1) 4.9
(2) 5.3
(3) 5.8
(4_-) 6.2
Options:-

«1, Option ID :- 417,
= 2, Option ID :- 418,
=« 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

The value of \/16 + 647 — \/16 — 67 , s closest to

Question ID:- 106

percentage change in the price of the item is :
(1) Decrease by 2.5%

(2) Increase by 5%

(3) Decrease by 1.5%

(4) Increase by 15%

The price of an item is increased successively by 25% and 30% and then decreased by 40%. Net
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g T F gd § Y$ Ifave s €
(1) 2.5% @i A

(2) 5% I gfg

(3)  1.5%%%! HH

(4) 15% =t gfg
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
=« 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- Not Attempted

Response Sheet

fordit a5 & o3 § ST 25% 91 30% i gfg &l 3 o7 TR 39 werr Uil 4o § 40% 1 ! Sl 21

Question ID:- 107

income of Kavita ?
(1) T 36000

(2) T 40000
(3) T 45000
(4) T 50000

(1) ¥ 36000
(2) T 40000
(3) T 45000
(4) < 50000
Options:-

«1, Option ID :- 425,
« 2, Option ID :- 426,
=« 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425

The income of Surbhi is 25% more than that of Kavita. Surbhi and Kavita save ¥ 8250 and ¥ 9000,

respectively. If the expenditure of Surbhi is 33 1 % more than that of Kavita, then what is the
3

gy &t o wfaar it o 25% fier €1 T ok wfa wEe: 28250 R T 9000 w=W ¥ Afg
gy o =9 Hiaa & = 9 33%% g 2, o shfaa s o #0 § 2

Question ID:- 108
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(1)
(2)
(3)
(4)

If cost price of 18 articles is equal to the selling price of 15 articles, then the profit percent is :

20%

16 2 %
3

16%

gly
3

7ifg 18 %Gl &1 9 g 15 Fegeii & fosra g & 9w 8, o1 oy wfawe € -

(1) 20%
2 162%
(3) 16%
1
4 8 — %
(4) = *
Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
=« 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- Not Attempted

(1)
(2)
(3)
(4)

Question ID:- 109

A trader bought two articles for a total of ¥ 1560. He sold one at a loss of 20% and the other at a
profit of 15%. If the selling price of both articles was the same, then what was the cost price of the
article which he sold at 20% loss ?

T 840
< 920
T 960
T 860

forelt =AMt 5 <1 SeqU e T 1560 H WG | 3 U a5 1 20% ST I 921 SH R 15% A W o9
e afe 31 axgat o1 fosra—qea 9um o, i f59 3%g 1 20% &1 W = 39 HA-Hed 1 912

(1) T 840
(2) T 920
(3) T 960
(4) T 860
Options:-

=1, Option ID :- 433,
=« 2, Option ID :- 434,
» 3, Option ID :- 435,
= 4, Option ID :- 436,
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Answer Given:- 2, Option ID : -434

Question ID:- 110

Solutions A and B contain acid and water in the ratio 1: 2 and 2 : 3, respectively. In what ratio
should A and B be mixed so that the resulting solution contains acid and water in the ratio

13:227?
(1) 3:4
2) 4:5
3) 5:6
(4) 8:9

= A 3R B H o7 iR UF F U HEe: 1:23R 2:3 §1 A 2R B # 9 1w # fyemn S,
Tora aitomsl =ie H e7ee iR Ul =61 ST 13 : 22 31 9 2

(1) 3:4
(2) 4:5
(3) bB5:6
(4 8:9

Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
=« 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- Not Attempted

Question ID:- 111

A bag contains notes of I 5, T 10 and X 50 in the ratio 2 : 3 : 5. If the total value of these notes is
¥ 4350, then the number of ¥ 10 notes is :

(1) 30
(2) 39
(3) 45
(4) 48

T O § 5,210 3T 50 o 121 1 Y@ 2:3:5 % U | €1 Afg 27 Tt el B Fa 9o T 4350
®, @ T 10 9 S I e E

(1) 30
(2) 39
(3) 45
(4) 48

Options:-

«1, Option ID :- 441,
= 2, Option ID :- 442,
« 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444
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Question ID:- 112

The average of 34 numbers is 64.5. The average of first 18 numbers is 60.5 and the average of the
last 18 numbers is 68. If the 17th and 18th numbers, from the beginning are removed, then what
is the average of the remaining numbers ? (correct to one decimal place)

) 63.4
) 63.6
) 64.2
) 64.8

34 HEmed w1 oiEd 64.5 B 1 Ygdll 18 HEmed = 2Ed 60.5 § 3R sifaw 18 Hemedi = oied 68 &1 At
Ry 17 9 3R 18 i Hemsil %1 9re fean s, dt 9w Heneli &1 2w #1872

(THRIETT % Weh T qh Tal)
(1) 63.4
(2) 63.6
(3) 64.2
(4) 64.8
Options:-

=1, Option ID :- 445,
« 2, Option ID :- 446,
« 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

The average weight of the members of a club is 78.5 kg. When five members of average weight
75.4 kg leave and nine new members of average weight 81 kg join the club, then the average
weight of the members of the club increases by 950 g. What was the number of members of the
club, initially ?

(1) 32
(2) 34
(3) 36
(4) 40

forelt srerl o Tl %1 3fied YR 785 kg & | 519 T4 Hewy et d R 75.4 kg § 979 <l Sigat 9ot
ST €, @it 9 7 wee fSe 3 R 81 kg ® For9 § wimfod € €, O 9o % wewl & Sfed 9R
950 g 513 S & | Tl o WSl i H&A SRY § 371 &t ?

(1) 32
(2) 34
(3) 36
(4) 40

Options:-

=1, Option ID :- 449,
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= 2, Option ID :- 450,
=« 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Response Sheet

Question ID:- 114

The amount of a certain sum invested for 4 % years is I 5848 and for 6 years, the amount of the

same sum is I 6364, at the same annual rate of interest at simple interest. What is the rate of

interest per annum ?

(1) 7.5%
(2) 8%
(3) 8.5%
4) 9%

s T T aftier 19 €t & HTHR S 9 4 %aﬂfﬁﬁmsaﬁwaﬁfﬁ?s%ﬁ‘tam%l % aififer

R WE :
(1) 7.5%
(2) 8%
(3) 8.5%
(4) 9%
Options:-

=1, Option ID :- 453,

= 2, Option ID :- 454,
=« 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- Not Attempted

Question ID:- 115

The compound interest on a sum of I 16000 for 3 years at 5% per annum, compounded annually,

15

(1) ¥ 2518
(2) T 2520
(3) T 2522
(4) T 2524

T 16000 1 ==UM W 3 9 & fau 5% afts &l & 9 =ehgfg =6, SEie =ars =459 arfties i gl

g g

(1) ¥ 2518
(2) T 2520
(3) T 2522
(4) T 2524
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Options:-

«1, Option ID :- 457,

= 2, Option ID :- 458,

« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- Not Attempted

Question ID:- 116

What is the difference between the compound interest for the 3rd year and 2nd year, on a sum of
< 70,000 at 10% p.a. interest compounded annually ?

(1) T 700
2) 2735
3) Z 770
(4) T 1050

% 70,000 T W 10% affer X T T 9 IR gEY 9d F =wHafs o ¥ o o dm, afe s
af s 2an e ?

(1) % 700
(2) T 735
(3) T 770
(4) < 1050
Options:-

«1, Option ID :- 461,
=« 2, Option ID :- 462,
=« 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

A can do a piece of work in 15 days, while B can do the same piece of work in 10 days. The time
taken by both of them to do the same work together will be :

(1) 12 days

(2) 8 days
(3) 6 days
(4) 3 days

A et &t =1 15 e o - warar €, Safe B34 & &1 10 feg § s msrar 1 9 291 faers =9 18 &1
foram feg § sy anad 2

1) 12f@
(2) 8 fe
3 6fF
(4) 3 feH
Options:-
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=1, Option ID :- 465,
= 2, Option ID :- 466,
=« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118

Pipe A and B can fill a tank in 18 hours and 27 hours, respectively. A and B are opened alternately
for one hour each, starting with B in first hour. In how many hours will the tank be filled
completely ?

)y 21
2) 22
2
® 213
3
(9 2

TEY A SR B UF 2ot I HAY: 18 TS A 27 S H W TFA & | A 3R BH TH-TF ¥ & fau arit-amt
Y el S 991 Yget 5 H U9 B R Gien Sl ¢ | 29! i T ¥ T g3 H o) S 2

(1) 21
(2) 22
2
(3) 21 =
3
4 =
4 21 -
Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
=« 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- Not Attempted

Question ID:- 119

The distance between two places A and B is 225 km. A car travels 25% faster than a bus. Both car
and bus start from A at the same time on the same day and reach B at the same time. On the way,
the car lost 45 minutes while stopping at a certain place. What is the speed of the bus ?

(1) 48 km/h
(2) 50 km/h
(3) 56 km/h
(4) 60 km/h
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Tl A 3R B & &9 &1 gl 225 km 7| TRt &R &1 =1e1 99 &1 91a § 25% AU ¥ S R SR 99
T oA s & 999 WA 9 U 0d 2 9 B WM UH & 999 W 9g=d 1 T H, FR frdt wom w
45 o2 Tahdl ¥1 919 &t =1 F1 ¥ 2

(1) 48 km/h

(2) 50 km/h

(3) 56 km/h

(4) 60 km/h
Options:-

«1, Option ID :- 473,
= 2, Option ID :- 474,
=« 3, Option ID :- 475,

=« 4, Option ID :- 476,
Answer Given:- Not Attempted

Question ID:- 120

A train X takes 6 hour less than train Y for a Journey of 1200 km. If the speed of Y is 10 km/h less
than that of X, then what is the speed (in km/h) of train Y ?

(1) 36
(2) 40
(3) 45
(4) 50

1200 km 1 I A H EAMS! X, WISt Y 9 6 = 7 @dl & | Afg Y &t e X &t 91 9 10 km/h &H
8, d TS Y St =t (km/h) T8 ?

(1) 36
(2) 40
(3) 45
(4) 50
Options:-

«1, Option ID :- 477,
= 2, Option ID :- 478,
« 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- Not Attempted
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